


Answer any 4questions from 1 to 5.Each carries 1score

1) Identity the molecularity of elementary reaction.
2HI           —>        H2+ I2 1)

2) Which of the following oxidation state is common for Lanthanoids.

a)+2 (b ) +3 ( c) +4     d)+5         ( 1 )

3) What is the primary valency of cobalt in the coordinate compound.

Co(NH3)5Cl]SO4 (1)

4) In the presence of light, chloroform is slowly oxidised by air to a poisonous gas called
______________.     (1)

5) Tollen's reagent is chemically ___________.      (1)

Answer any 8 question from 6 to 15. Each carries 2 score.

6) State Henry's law. Mention any one important application.     (2)

7) The boiling point of benzene is 353.23K. When 1.8g of a non volatile solate was dissolved in 90g
of benzene, the boiling point raised to 354.11K. Calculate the molar mass of the solute. Kb for
benzene is 2.53K kg mol-1                    .(2)

8) Represent the cell in which the following reaction takes place

Ni(s)+ 2 Ag+ —>Ni2++  2Ag

b) calculate emf of the cell
E0

Ni2+/Ni= -0.25V,E0Ag+/Ag=0.80v   (2)

9) Differentiate order and Molecularity of a reaction.(2)

10) What the Lanthanoid Contraction. Give reasons for it                     (2).

11) Write the IUPAC names of the following coordinate compounds

a) K3[Cr(C2O4)3]

b) b) [Co(NH3)6]Cl3

12) 12)Write any two difference between SN1 and SN2 reactions.      (2)
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1- ap-X-Â- 5 hscbp-Å- -tNmZy-§-fn-Â- GsX¦n-epw- \mse®w- F-gp-Xp-I-. 

1. Xmsg X¶ncn¡p¶ cmk{]hÀ¯\§fnÂ tamfnIyqemcnän FgpXpI. 

                            2HI                   H2 + I2 

2. Xmsg X-¶n-cn-¡p-¶-h-bn-Â- em³Yt\mbnUp-I-fpsS -s]mXp-hm-b- Hm-Ivko-I-c-Wm-h-kvY- 

G-Xv.        a) +2       b) +3             c) +4              d) +5 

3. [Co(NH3)5Cl]SO4 F¶ -tImw-¹-Ivkn-Â- sIm_mÄ-«n-sâ -ss{]a-dn- h-me-³-kn- F-{X-. 

 

4. kq-cy-{]-Im-i-̄ n-sâ km-¶n-[y-̄ n-Â- -t¢m-tdm-t^man\v Hm-Ivko-I-c-Ww- \-S-¶pWvSm-Ip-

¶- hn-j- hm-X-Iam-Wv ------- -- --- -- --- -- --- -.............................. 

 

5. cmk-]-c-am-bn- -“tSmf-³kv- dnbm-P-âv “………………………… B-Wv.  

 

 
B-dp- ap-X-Â- 15 hscbp-Å- GsX¦n-epw- 8 -tNmZy-§-Ä-¡v D-̄ -cw- F-gp-Xp-I-.  

6. sl³dn \n-b-aw- {]-kvXm-hn-¡p-I.- C-Xn-sâ GsX¦n-epw- H-cp- {]mtbmKn-I- D-]tbmKw- 

F-gp-Xp-I-.  

 

7. s_³-kn\n-sâ Xn-f-\n-e- 353.23 B-Wv. 90 {Kmw- -s_³-ko-\nte¡v 1.8{Kmw- -t\m¬- 

shmfäbnÂ eo-\w- ebn¸n¨t¸mÄ Xm-]-\n-e- 354.11K B-bn- h-À-²n-¨p.- eo\¯nsâ-    

tamfm-À- am-Êv I-W-¡m-¡p-I.- -(s_³-kn-\nsâ Kb = 2.53Kkg/mol.) 

 

8. a) NphsS \-Â-In-bn-cn-¡p-¶- {]-h-À-̄ -\w- \-S-¡p-¶- skÃns\ {]-Xn-\n-[o-I-cn-¡p-I-. 

Ni(s) + 2 Ag+(aq)                                 Ni2+  +  2Ag(s)          (1) 

b) ap-I-fn-Â- X-¶n-cn-¡p-¶- skÃn-sâ E0Cell- I-W-¡m-¡p-I-.   

           (E0Ni2+/Ni = -0.25V, E0Ag+/Ag= 0.80V) 

9. H-cp- cm-k{]-h-À-̄ -\-¯nse Hm-À-U-dpw- -tamfn-Iyp-e-mcnän-bpw- X-½n-ep-Å- hy-Xym-k§-Ä- 

F-gp-Xp-I-.  

 

10. em³Yt\mbvUv k-t¦mNw- F-¶m-Â- F-́ v .C-Xn-sâ Im-c-Ww- Is­¯p-I-.  

 

 

11. Xmsg X-¶n-cn-¡p-¶- D-]- kwtbmP-I- kw-bp-à-§-fpsS IUPAC \m-aw- F-gp-Xp-I-.  

a)   K3 [Cr(C2O4)3] 
b)  [Co (NH3)6]Cl3 

 

12 SN1 SN2
- {Inbmhn-[n-I-Ä- X-½n-ep-Å- GsX¦n-epw- c-­v hy-Xym-k§-Ä- F-gp-Xp-I-.  

 



13)Identity A and B in the following reaction.

(2)
14) What do you meant by denaturation of protein.
15) Complete the following reaction.

(2)
Answer any 8 question from 16 to 25 . Each carries 3 scores

16)       a ) State kohlrausch's law.(1)
b )λ0

mFor Nacl, HCl and CH3COONa are 126.4 ,425.9 and 91.5cm² mol-¹ respectively. Calculate
λ0

m of  CH3COOH            (2).
17)      An archeological substance contained wood had only 66. 66  C¹⁴ found in afield. Calculate age of
the sample if half life C¹⁴ is 5730 years.(3))

18)   (a) What will the the effect of temperature on rate constant(1)
(b) Write Arrhenius equation and explain the terms.(2)
19) Explain the preparation of potassium dichromate(3)
20)     a) what is crystal field splitting energy                 (1)

b) Draw figure to show splitting of de-orbitals in tetrahedral crystal field.   (2)

21) (a) Explain williamson's synthesis(2)

(b) C6H5OH   —-Con. HHO3--->

22) Complete the following reaction.

(3)
23) How would you account for the following

(a) Aldehydes are more reactive than ketones towards nucleophilic addition reaction   (1 )
(b) Phenols are less acidic than carboxylic acids(2)



13 A,B- F-¶o- D-Â-̧ -¶-§sf Xn-cn-̈ -dn-ªv F-gp-Xp-I-. 

A             CHCl3   +  NaOH                C6H5OH                  NaOH   /CO2                 B 

14 Uo- -t\¨tdj-³- Hm-̂ v -t{]m«o-³- F-¶m-Â- F-́ v.  

 

15 NphsS sImSp-̄ n-cn-¡p-¶- {]-h-À-̄ -\-§-fnse D-Â-̧ -¶-§-fpsS L-S-\- F-gp-Xp-I-.  

 

 

a) C6H5 NH2      NaNO2/HCl           

  

b) C6H5 N2Cl          H2O /Warm ,,,,,,,,,,,,,,,,,,,,,,,,,,,  +  N2   +   HCl 

 

 
   16 ap-X-Â- 26 hscbp-Å- GsX¦n-epw- 8 -tNmZy-§-Ä-¡v D-̄ -cw- F-gp-Xp-I-.  

 

16 a) tImÄdm-j-kv \n-b-aw- {]-kvXm-hn-¡p-I-. 

b) NaCl, HCl, CH3COONa  F-¶n-h-bpsS λ0

m b-Ym-{I-aw- 126.4, 425.9,  91.5 S cm2mol-1   
B-Wv. 

CH3COOH sâ  λ0

m I-W-¡m-¡p-I-. 
-  

17 ]p-cm-h-kvXp-¡-Ä- A-S-§n-bn-cn-¡p-¶- H-cp- a-c-̄ n-Â- 66.6% Im-À-_-¬-þ14 A-S-§n-bn-«p­v. 

C-Xn-sâ A-À-²-bp-Êv 5730 h-À-j-amsW¦n-Â- ]-g-¡-sa{X? 

 

18 (tdäv -tIm¬-kvä-³-än-Â) \n-c-¡v kvYncm¦-¯n-Â- Xm-]-\n-e-bpsS kzm-[o-\w- F-́ m-Wv. 

Ado\nbkv- ka-hm-Iyw- F-gp-Xn- A-Xnse ]-Z-§-Ä- hy-à-am-¡p-I-. – 

19 s]m«m-kyw- -ssUt{Imtaäosâ \n-À-½m-Ww- hn-i-Zo-I-cn-¡p-I-.  

 

20 a) {In-kvä-Â- ^o-Â-Uv kv¹n-än-Mv Du-À-Öw- F-¶m-Â- F-́ v. - 

b) sS{Smlo{UÂ tImw-¹-Ivkn-Â- d Hm-À-_n-ä-en-sâ kv¹n-än-Mv Nn-{Xo-I-cn-¡p-I-.  

21 a)  hn-eyw-k¬kv - kn-́ -kn-kv hn-i-Zo-I-cn-¡p-I-.  

 

b) C6H5OH                                         ……………………………   (2) 
 

22 cmk{]hÀ¯\w ]qÀ¯nbm¡pI. 

a) C6H5 CO CH3         Zn/Hg 

b) CH3CHO   +  H2N-NH2 

c) C6H5CH3       KMnO4 / OH
-
 

23 ImcWw hyàam¡pI. 
 

a) \yq-¢ntbm^o-en-Iv A-Un-j-³- {]-h-À-̄ -\-̄ n-Â- B-Ä-Un-sslUn\v IotämWns\¡m-

Ä- {In-bm-io-ew- Iq-Sp-X-em-Wv  

b) ^ot\mfn\v ImÀt_mIvknenIv AknUnt\¡mÄ AknUnän IpdhmWv. 



24) Carbohydrates are broadly divided in to monosaccharides, Oligosaccharides and
polysaccharides

        
  

●             a)   glucose
●                 b)zymase
●        c)night blondness
●               d)Amylose

e)fructose
25) (a) What is Lucas reagent    (1)

(b) How wil you distinguish 1°,2° and 3° alcohols using Lucas reagent (2)

26) Explain

(1) Carbylamine reaction
(2) Hoffman bromamidereaction          (3)

Answer any 4 question from 27 to 31. Each carries 4 scores.                       (4×4=16)

27) (a) State Raoult's law

(b) What type of deviation shown by a mixture of chlorfrom and acetone. Draw  the graph

28) (a) Write the difference between primary and secondary cells           (2)

(b) what is a fuel cell           (1)

© Write the overall cell reaction in H2-O2 fuel cell.                            (1)

29) (a) Draw the geometrical isomers of following of complexes           (2)
(I) [CoCl2(en)2]]+
(II)Co(NH3)Cl(en)2]2+

(b) On the basis of VBT account for the diamagnetic behaviour of       ( 2))

30) (a) Complete the reaction

(b) Identity the major product formed by the reaction of 2- bromo butane with   alcoholic     KOH.
                                                             (2)

   
   
 

(a) Write any one example of each monosaccharides and Oligosaccharides.
(b) Match the following.

Vitamin A
Starch
Aldohexos 

Enzyme

a) Aldol condensation 

(b) HVZReaction

31) Explain the following.
       reactions

Name the rule behind it.



24 ImÀt_msslt{UäpIsf tamtWmkm¡ssdUvkv, HentKm km¡ssdUvkv, t]mfn 

km¡ssdUvkv F-¶n-§s\ X-cw- Xn-cn-¡mw-  

a) tamtWmkm¡ssdUvkv, HentKm km¡ssdUvkv, Chbvv¡v Hmtcm D-Zm-l-c-Ww- 

Is­¯p-I-. 

-b) tNcpw-]-Sn- -tNÀ-¡p-I- 

hnäman³ A ¥qt¡mkv 

kvämÀ¨v ssktakv 

BÂtUm slIvtkmkv \nimÔX 

F³sskw Aantemkv 

 {^Ivtämkv 

25 a) F-́ m-Wv eq-¡m-kv dn-tbPâv 

b) 10 , 20, 30 
 B-Â-¡tlmfp-I-sf eq-¡m-kv dn-tbPâv D-]tbmKn-̈ v F-§s\ Xn-cn-̈ -dn-

bmw-.  
26 hn-i-Z-am-¡p-I-  

a) Im-À-ss_-Â- A-ao-³- dn-bm-£-³- - 

b) tlm v̂am³ t{_massaUv dn-bm-£-³-. 

 
27 ap-X-Â- 31 hscbp-Å- GsX¦n-epw- \m-ev -tNmZy-§-Ä-¡v D-̄ -cw- F-gp-Xp-I-.  

 

27 a) d-u-Äkv \n-b-aw- {]-kvXm-hn-¡p-I- - 

b) t¢m-tdm-t^mapw- A-k-tämWpw- -tNÀ-¶- an-{in-Xw- G-Xp-hn-[-̄ n-ep-Å- hy-Xn-bm-\-am-Wv     

   Im-Wn-¡p-¶-Xv. C-Xn-sâ {Km-̂ v Nn-{Xo-I-cn-¡p-I-. 

  

28 a) ss{]a-dn- skÃpw- sk¡-³-U-dn- skÃpw- X-½n-ep-Å- hy-Xym-kw- F-gp-Xp-I-  

b) F-́ m-Wv ^yq-h-Â-kÂ- 

c) ^yq-h-ÂskÃn-sâ Hm-htdmÄ- dn-bm-£-³- F-gp-Xp-I-.  

29 a) Xmsg¸-d-bp-¶- -tImUnt\j-³- kw-bp-à-§-fpsS -tPma-{Sn-¡-Â- sF-tkm-sadn-k§-Ä- -   
   h-c-bv¡p-I-.  

1)  [CoCl2 (en)2]+ 

2) [Co(NH3)Cl(en)2]2+ 

b) hn-_n- Xn-b-dn-bpsS A-Sn-kvYm-\-̄ n-Â- UbmamKvs\än-Iv kz-̀ m-hw- hn-i-Zo-I-cn-¡p-I-.  

       

30 a)cm-k{]-h-À-̄ -\w- ]q-À-̄ n-bm-¡p-I-.  

1)   CH3-CH2Br            AgCN 

 

2)   CH3-CH2Br              Na 

       Dry - ether 

 

b)2-t{_mtam _yqt«bv³ BÂ¡tlmfnIv -s]m«m-kyw- -ssl-t{UmIvkssUpw- B-bn- {]-h-

À-̄ n-̈ p­m-Ip-¶- {]-_-e- D-Â-]-¶w- G-Xv . C-Xp-am-bn- _-Ôs¸«- \n-b-aw- G-Xv?  

31 Xmsg- s¡mSp-̄ n-cn-¡p-¶- cm-k{]-h-À-̄ -\-§-Ä- hn-i-Zo-I-cn-¡p-I- 

a. BÂtUmÄ Is­³tkj³              (2)   

b. HVZ dn-bm-£-³-.      (2) 
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